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Bl =%

THEX Sy« T - R - A5 B B B B G = A & H (GRS
B HAE K
= 1 85, 002, 005
AfidE T
= 1 36, 458, 005
BIHIA-N" = T,
R49 198. 7~198. 8kp
= 1 2,831, 040
BIEIA=N" =14 TemPl F —& B7ZEd 0 o ©
B BET ATV HT20FHECE K A
&
m2 800 3,196 2, 556, 800
socIE (% e B A1) TA77 Wbk (EIHI)
&
m3 40 3, 584 143, 360
AL Gy TA77 Wbk (BIHI)
m3 40 3,272 130, 880
BIHA-~" =14 T
R49 199. 9~200. 1kp
= 1 3,523, 100
BIEIA=N" =14 TemPl F —& B7ZEd 0 o ©
B BET ATV HT20FHECE K A
&
m2 1, 000 3,196 3, 196, 000
secIE R (% e B A1) TA77 Wbk (EIHI)
&
m3 50 3,270 163, 500
AL Gy TA77 Wbk (EIHI)
m3 50 3,272 163, 600
BIHIA-N" = T
R49 203.1~203. 2kp
= 1 4,905, 950
BIEIA=N" =14 TemPl F —& BZEd 0 o ©
B BET ATV HT20FHECE K4 A
&
m2 1, 400 3,196 4, 474, 400
secIE ( rE BIH1) TA77 Wbk (EIHI)
&
m3 70 2,893 202, 510
AL Gy TA77 Wbk (EIHI)
m3 70 3,272 229, 040

-1- Etxzim  Aukei )75 R




NAWA

it

£

THEX Sy« T - R - A5 B B B B G = A & # (GRS
BIHIA-N" = T,
R49 203. 3~203. 4kp
= 1 1,051, 275
BIEIA=N" =14 TemBA B —J8 EzE$ 0 S 6
B BET ATV HT20FHECE K A
& [
m2 300 3,196 958, 800
socIE (% e B A1) TA77 Wbk (EIHI)
& [
m3 15 2,893 43, 395
ALy TA77 Wbk (EIHI)
m3 15 3,272 49, 080
BIHIA-N" = T
R49 205. 9~206. 2kp
= 1 9, 723, 840
BIEIA=N" =14 TemBA B —J8 EzE$ 0 S 6
B BET ATV HT20FHECE K A
&
m2 2, 800 3,196 8, 948, 800
secIE R (% e B A1) TA77 Wbk (EIHI)
&
m3 140 2,264 316, 960
AL Gy TAT7 N (BT
m3 140 3,272 458, 080
BIHIA-N" = T
R49 216. 3~216. Tkp
= 1 9,618, 140
BIEIA=N" =14 TemBA B —J8 EzE$ 0 S 6
B BET ATV HT20FHECE KA A
&
m2 2, 800 3,196 8, 948, 800
sicIE R (% e B A1) TA77 Wbk (EIHI)
&
m3 140 1,509 211, 260
AL Gy TA77 Wbk (EIHI)
m3 140 3,272 458, 080
BIHIA-N" = T
R49 216.9~217. Okp
= 1 4, 804, 660
BIEIA=N" =14 TemBA B —J8 EZE$ 0 S 6
B BET ATV HT20FHECE K A
&
m2 1, 400 3,196 4, 474, 400
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THEX Sy« T - R - A5 B B B B G = A & # (GRS
socIE ( E BI A1) TA77 Wbk (EIHI)
& [
m3 70 1,446 101, 220
SISy TA77 Wbk (EIHI)
m3 70 3,272 229, 040
TR L
= 1 21, 993, 660
N T
= 1 21, 993, 660
A HREC ££101.6 HEE 4.4m 5
P E
#% 260 84, 591 21, 993, 660
X R L
= 1 1, 026, 000
X R 1
= 1 1, 026, 000
A 7 bR N AP ARPER EAR 15em FIE
&
m 3, 000 160. 4 481, 200
A AV R R AN AP ARPER EAR 15em INEL
&M
m 3, 000 181.6 544, 800
Bk T
= 1 14, 931, 000
JE AT R AR S R T
= 1 14, 931, 000
AR & -E
m2 2, 700 1,462 3,947, 400
[ e Imb7) =S UEDA (7 Tk
¥ AR AnA OF -V
m2 2, 700 1,374 3, 709, 800
R FMME7 VR ISR P A
A E ARG OF -V
m2 2, 700 1, 346 3, 634, 200
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THEX Sy« T - R - A5 B B B B G = A & H R (GBS
L FEmME7 VIR E - BB At
A EAnA G OF -VE
m2 2, 700 1,348 3, 639, 600
EEMRE T
= 1 8, 504, 340
kAR
= 1 8, 504, 340
[ ES SR 400k AR/
#% 260 23, 146 6,017, 960
o kA 25 A 1. Om2/
#% 260 9, 563 2, 486, 380
% T
= 1 2, 089, 000
RIEE T
= 1 2, 089, 000
RFE AR B
= 1 2, 089, 000
[EEE AR
= 1 85, 002, 005
MR E
= 1 8,989, 976
BTl TE:
= 1 1,441, 672
T
= 1 1,383,018
TR AR LY
= 1 1,383,018
HTE
= 1 58, 654
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Bl =%

THEX Sy« T - R - A5 B B B B G = A & H R (GBS
B B HE R FEART IR
= 1 58, 654
HimEpE (FE L)
= 1 7, 548, 304
g
= 1 93, 991, 981
BTk Xegiiv oy
= 1 38, 249, 386
R 5]
= 1 132, 241, 367
— R RS
= 1 21, 658, 633
T HAlik
= 1 153, 900, 000
THE B 2 %8
= 1 15, 390, 000
TG
= 1 169, 290, 000
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